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NCERT Class 10 Maths Exercise 2.3 solutions in hindi | F&T 10 IfOTd TATdell 2.2
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AT FET | §H TS & 5 HIST = HI9$ x HAThA + AYhd

fastrete e & 3ER A p(x) 3 q(x) aﬁ‘éa’ragqa%“aﬁg(x);to ETHTBHangq(x)ﬁTr(x) gy
qred & Gahd & b p(x) = g(x) x q(x) + r(x) ST&T p(x) = AT, g(x) = HTSTHh, q(x) = AR, TAT r(x) = AYH

g |
NCERT Class 10 Maths Exercise 2.3 (¥aTdeil 2.3)

et 1. faTSIeT Teaedw &1 wAr %, fAFT & p(x) Y g(x) ¥ AFT I3 W HRGA IAT AN AT
AT |

(i) p(x) = x>-3x*+5x-3, g(x) = x* - 2
(i)  p(x) = x*-3x*+4x+5, g(x) = x*+1-x

(iii) p(x) = x*-5x+6, g(x) = 2 - x?

g - (i) p(x) = x*-3x?+5x-3, g(x) = x* - 2

X2 - 2\) x3-3x?+5x-3 ( x-3
X -2X

- +

-3x%+7x-3
-3x° +6
+ -

7x - 9 AYHSA
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(i)  p(x) = x*-3x*+4x+5, g(x) = x*+1-x

x2-x+1\> x*+0x3-3x%+4x+5 @2+x-3

x* - x3 +x

-3x%2 + 3x +5
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3x2 + 3x -3
+ - +

8 AVHT




(iii) p(x) = x* -5x +6 , g(x) = 2 - x? solankimaths.com

-X? +2) x*+0x2-5x+6 (—x2-2

x* - 2x2

+
2x? - Bx + 6

2x2 -4
- +

-5x + 10  AYHoT
d: ARTHS = -x>-2 g7 AP = -5x+10 yreg g3 |

YT 2. UEW 9g9E § gAY FEUG H W F&, A9 AT F FA 99H7 9gug AT qg9g F1 0
IS T |

(i) 23 , 2t*+3t3-2t%-9t-12
(i)  x®+3x+1, 3x*+5x3-7x*+2x+2

(iii)  x*3x+1, X>-4x*+x*+3x+1

g - (i) -3, 2t*+3t3-2t%-0t-12

t2-3\> 2t*+3t3-2t2-9t-12 <2t2+3t+4

_2t4 _+6t2

3t3+4t%-0t

3t -9t

- +
4% - 12
412 - 12
-+

0 AYHol
FIifr VBT 0 § 37d: SREC 23 g9 2t*4+3t3-21%-9t-12 &l Tah IUTAYUS g1

(i) x*+3x+1, 3x*+5x3-7x*+2x+2
x2+3x+D 3xH+5x3-7x%+2x+2 <3x2-4x+2
3x*+9x°+3x?

-4x3-10x%+2x

-4x3-12x%-4x

+ o+ o+
2X°+6x+2
2X°+6x+2
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FIifr VBT 0 § 37d: TgIG X2+3x+1, TgIG 3x*+5x3-7x%+2x+2 &H Tah UTAEUS g1

(i)  x%3x+1, x>-oC+x*+3x+1

x2-3x+ 1) XO-4x3+x%+3x+1 ( x2-1

x°-3x3+x2
- + -

-X3+3x+1
-Xx3+3x-1
+ - +

2 AYFHT

FIfH B 0 T & I FgI& x*-3x+1, TGIG X*-4x’+x*+3x+1 FT TH VWIS T & |

we 3. 3x*+6x’-2x*-10x-5 & 37 W Y AT AT, IR 39S o Y+ \E 3R -\E gl
gl 3x+6x>-2x*-10x-5 & a Y=gh \E 3R \E g ar (x-\E) aar (x+\/§) ar AueTEUs gl |

3 (x—\/é)(x+\/§)=(x2-§)sﬂa:rwgrvr@g%l

5
X2 - 3 > 3x*+6x3-2x%-10x-5 @x2+6x+3
3x*  -5x?

- +

6x>+3x°-10x

6x>  -10x
- +
3x* -5
3x*-5
-+
0 AVl
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3 3x*+6x3-2x%-10x-5 = (x* - N 3x%+6x+3)
5
= (x*- g)(3x2+3x+3x+3)
5
= (X - g)[3X(X+1) +3(x+1)]
5
= (- 3 (3x+3)(x+1)

gafaT 3x*+6x°-2x*-10x-5 & Y=g \E -\E, -1 3R -1 8

T 4. I x3-3x%+x+2 & TH TgIE g(x) T AT 3 W HETHA U9 ANG HAU: x-2 3T -2x+4 § ar
g(x) I g ST |

& - §H 900 ¢ & 99T = AIole x HTITHS + AVHT
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3 XP-3x%+x+2 = g(x)(x-2) + (-2x+4)
X3-3x2+x+2 - (-2x+4) = g(x)(x-2)
x>-3x%+3x-2 = g(x)(x-2)

x3-3x%2+3x-2

(x-2)

9(x) =

X-2 ) x3-3x%+3x-2 Q@-xﬂ
x3-9%?
-+

-x? + 3x

X2 + 2x

37 g(x) = x*-x+1
e 5. SgTal p(x), g(x), q(x) AR r(x) F T eI AT AN QAo TeMReA A TS FIA g ;T
(i) &1 p(x) = q(x) (ii) & q(x) = r(x) (iii) & r(x) = 0
el - fasTsiT TeanReRm & p(x) = g(x) x q(x) + r(x)
() =T p(x) = q(x)
Tg I FHT § ST HISiH Hr g1d 0 g IFAUTT HeTh A @l |
AR p(x) = 2x>-4x%+15x+15
g(x) = 2
ar q(x) = X>-2x%+7x+2 AT r(x) = x+1
(i) = q(x) = r(x)
AT p(x) = 4x>-8x+7
g(x) = x%2x+1
dr q(x) = 4 97 r(x) = 3
(i) ®=Tr(x) =0
AT p(x) = 4x%-8x+7
g(x) = x%2x+1

arqx) =4 aarr(x) =3
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